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Find the range R and median M of the
following set of data:
8,12,10,6,6,0,20,24.

Find R/M as a simplified improper fraction.
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30 points, find the new mean and standard
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My dashboard is full of bobble heads. My Hulk

Hogan bobble head has a 1/5 chance of bobbling.

Mr. Kermit the Frog and Baloo Bear both have a
2/3 chance of bobbling. (Obviously they are
independent bobblers.) What is the probability
that Kermit is bobbling, but not the other two?
Leave your answer as a simplified fraction.
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1. A correlation of 0.6 means that 60% of the
values fall above the regression line.

2. If the correlation between two variables is 0,
there can be no relationship between them.

3. For all the books in the Library at Lincoln High
School, the correlation between the thickness of
books and the number of pages is positive.

4. For all cars in the state of Alabama, the
correlation between their fuel efficiency and their
weight would be positive.

5. If the correlation between a group of people’s
height (in) and weight (Ib) is 0.7, the correlation
between their height (cm) and weight (kg) would
still be 0.7.

Find the sum of all false statements.

Answer :

Round 1 2 3 4 5
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Mean:

-5. Equal to Median

-2. Measure of Center

-1. Measure of Spread

0. Nonresistant

1. Used for Normal Curves
2. Expected Value

5. Resistant

Find the product of all true characteristics of a
mean.

Answer :

Round 1 2 3 4 5
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Which of these are NOT independent?

® >

o 0

A coin tossed 100 times (H/T).

A thumbtack is flipped 100 times (Point
Up/Point Down).

Weather observed for 100 consecutive days
(Rain/No Rain).

A fair die is altered so that the side that
normally shows two dots only shows one.
The altered die is rolled 100 times (# spots)

Answer :

Round 1 2 3 4 5
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